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Question Number : 1 Question Id : 40503610402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let A={1, 2, 3}. Define a relation R on A
as:
aRb < |a2—b?3=5.
Then which of the following is not true ?
Options :
R~ 1=R, where R ! is the inverse

40503637911, OF K-

40503637912, Range of Ris A.
40503637913, R is reflexive and symmetric.

40503637914, R is symmetric and transitive.

Question Number : 1 Question Id : 40503610402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
gcollegedunia;

Correct Marks : 4 Wrong Marks : 1



oM A={1,2,3} ¥1 AW UF T=- R
BRI aftafye 2 ;
aRb o |a2—b3<5
= F 9 FF w66 o2
Options :
R-1=R, W&l R-1, R &1 ufaain

40503637911, (Inverse) d

40503637912, R 1 TET AT

40503637913, R TG T HAFHG 2 |

40503637014, R T T1 THFTH T |

Question Number : 2 Question Id : 40503610403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The locus of the point

z=x+1y '[x,y eR,i=+-1) satisfying

.ar [ = 31 i o
8 oy 3 1s:
Options :
a circle with radius =23
40503637915.
40503637916, 2 Circle with centre at V3, 0)

gcollegedunia;



a circle with centre at fﬂ 243} and

40503637917, radius3

an ellipse with length of its minor axis

40503637918, = 3

Question Number : 2 Question Id : 40503610403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
fag z=x+4 iy i:x,y eR.i=J=1], =

(z—3 ;[ 2l
Z|1]=;Eﬁmgv,am %, =1 fag

9 T
Options :

arg

10503637015, P 30 roal I 243 zl

wF 39 foma w2 (V3, 0) 2
40503637916,

ue g fore = (0, 243 ) aen B
40503637917, 3 E1

U =g foaF o A H =T 3 2
40503637918. hE

gcollegedunia;



Question Number : 3 Question Id : 40503610404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If both the roots of the equation,
x?—2ax +a%—1=0(ae R) lie in the interval
(—2 2), then the equation,

x2—(a2+1)x— (a?+2)=0 has
Options :

i 3
40503637919. both roots in (— 3, 0)

one root in (0, 2) and another root in

2
40503637920.{ 2,0)

one root in [2, 3) and another root in

2
40503637921. (-2,0)

one rootin( — 3, — 2) and another root

in (0, 2]
40503637922.

Question Number : 3 Question Id : 40503610404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Ffg FHF, x2-2ax+a2—-1=0(ae R) F
A g, A (-2, 2) ° ¥, A g,
x2—(a2+1)x—(a2+2)=0:

Options :

40503637919, <1 T (=3, 0) H E

gcollegedunia;



=1 T HA (0, 2) F a9 THA HA (-2, 0)
40503637920, A © |

%1 TS T [2,3) H a9 SHA qA (~ 2,0)
2

40503637921.

F TH g (-3, —2) H 991 THT gA

NH
40503637922. ©, 2] %l

Question Number : 4 Question Id : 40503610405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the system of equations
2x+y+pz=-1
Ix—-2y+z=q
5x —8y+9z=>5
has more than one solution, then g—p is
equal to :
Options :

40503637923.

I3

40503637924
40503637925, 4

40503637926, — 4

gcollegedunia;



Question Number : 4 Question Id : 40503610405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
RIEECIESUREEIR!
2xx+y+pz=-1
Ix—2y+z=q
5x —8y+9z=>5
FFAAfE T E A q-p WHE
Options :
40503637923. 2

40503637924, — 2

40503637925, 4

40503637926. *

Question Number : 5 Question Id : 40503610406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
All the words (with or without meaning)
formed using all the five letters of the word
GOING are arranged as in dictionary. Then
the word OGGIN occurs at the place which
is :

Options :

gcollegedunia;



Ay th
40503637927. {48]

gy th
40503637928. (49)

th
40503637929. {5 m

th
40503637930. {5 1]

Question Number : 5 Question Id : 40503610406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
2 GOING & 91 5 3121 &l TIFT %d gU
=Y T HHT 9= (AR S SEH 2 A Y =
), I=H F ATHR At fHy T E, @
158 OGGIN 7= H & fohd = W a1 ?

Options :

40503637927, (48)

40503637928, (49) =1

40503637929, P0)

(1) =t
40503637930.

Question Number : 6 Question Id : 40503610407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes "~
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical gco”egedunim



Correct Marks : 4 Wrong Marks : 1

The sum

2 2 10 18 26
lg_zlg?lg_'ilg_fl

infinity, is equal to :

:__'._}l

Options :

5
40503637931, O
1z
40503637932, 24
1
40503637933, 24
5
8
40503637934

Question Number : 6 Question Id : 40503610407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

-

Options :

gcollegedunia;



9
8

4050363793 1.
o7
24
40503637932.
11
40503637933, 24
5
8
40503637934.

Question Number : 7 Question Id : 40503610408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let r and s be respectively the remainders
when (12)% and (23)'? are divided by 5,
thenr+s is equal to:

Options :
40503637935, 2

e

40503637936.
40503637937.

40503637938, 2

gcollegedunia;



Question Number : 7 Question Id : 40503610408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

54 (12)2 a1 (23) 2 F1 5 F§ fasrtera foran s
T o FHM: YURS r a9 s €, o r+ s SR

g

Options :
40503637935

40503637936.

40503637937.

2

40503637938.

Question Number : 8 Question Id : 40503610409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let fbe a differentiable function satisfying
f(x+y)=flx)+fly)—xy forall x, ye R. If
| f(h) 10

&lii‘l}}} T = 3, then .-.Eflr{n] isequal to:
Options :
55
40503637939, 2
40503637940, 2

gcollegedunia;



40503637941.

295
40503637942, 4

Question Number : 8 Question Id : 40503610409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

HHI f Ueh SAashe1d Fed § Sl 9ea x, y € R
& T, fx +y)=f(x) + fly) — xy T HF= FA@

I . 10
21 At lim i ] =3 Y f(n) U=
h—-0 h Bon
T
Options :
E
40503637939. 2
40503637940, 2
55
40503637941, 3
225
40503637942, 4

gcollegedunia;



Question Number : 9 Question Id : 40503610410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
For non-zero real numbers a, b, if

3 /

et

i a+bx?
y(x) = ——=7—,x>0and y’(5)=0, then
x4
theratioa:bis:
Options :

40503637943, V2 3

40503637944, 35

V5:43

40503637945.

40503637946, 311

Question Number : 9 Question Id : 40503610410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
YW Arias FEHA a 991 b F fo 4fs

< N bx 2 :
H(11=T,x>nam y'(5)=07%, @
o5
9 a : b T T :

Options :

gcollegedunia;



40503637943, V9 13

40503637944, 35

V5:43

40503637945.

40503637946, 311

Question Number : 10 Question Id : 40503610411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The function f(x)=sin2x+ 2cosx,
| f ‘3w 3-7.'}
Xe i R T; has:

Options :

40503637947, 1O critical point.

a point of local maxima and a point

40503637948, ©f local minima,

a point of local maxima and a point

40503637949, ©f inflection.

a point of local minima and a point

40503637950, of inflection.

gcollegedunia;



Question Number : 10 Question Id : 40503610411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

e f(x) =sin2x + 2cosx, Xe

. &t a)
%l :
Options :

40503637947, 1S 1T g Tl 2|

uF farg ™A SfE= ® ao wF fag
40503637948, T TS B

s fag g sfEme 2 a1 us
40503637940, T TG 1
% fag HE fAfE= € a9 =

EIERIECDE Z
40503637950. s

Question Number : 11 Question Id : 40503610412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

_ j cos’0 it
The integral sinf(4 — 3 sin”20) =

equal to :
(where C is a constant of integration)

Options :

gcollegedunia;



cos’ | L C

B cnsE | |

1 sin® 0 5
?— I-Oge ( a7 3 W F O
4 sin” 0 + cos” o

40503637952, \ /

E Ioge
40503637951.

sinE'

g | sin> 0 | Ve

Be
20 =D 5
40503637953. lsin®0 + cos0]

' 6
élﬂge { cos b W We

Vi 3
sin®0 + cos®o
40503637954. bt dol

Question Number : 11 Question Id : 40503610412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

cos’0
sin0(4 — 3 sin” 20)

T j d0 s

(&l C U% gHEe F=EL 2 1)
Options :

cos” 0 | We

5i115 B cnaE | |

1
E I‘Ggﬁ
40503637951.

1 sin® 5
'j_ I.['}gt. ( =7 3 W F
4 sin” 0 + cos®H

40503637952, \ /

gcollegedunia;



1 sin” 0 :
'j_f] IDBE I & 5:‘}1“ 5 I | {_
40503637953, sin”0 + cos™6

1 5% g
— log, [ ;m g W C
6 [ sin”0 + cos’0 )

40503637954. :

Question Number : 12 Question Id : 40503610413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the region bounded
by the parabolax =2y? and the line x + y=1
15 :

Options :

40503637955. =

40503637956.

w|o

40503637957.

W= |

40503637958.

gcollegedunia;



Question Number : 12 Question Id : 40503610413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TEeE, x =2y 991 ™, x +y=1 5 Has
&5 1 AR (3T THEdl §) €
Options :

40503637955. =

40503637956.

w|e

40503637957.

W= |

40503637958.

Question Number : 13 Question Id : 40503610414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Let y=y(x) be the solution of the differential

d
equation xlog, x ay F2y=2x (x >1). If

lim y(x) =1, then y(e?) is equal to :
r—l+

Options :

gcollegedunia;



[

-2

40503637959.

[ ]

-2

40503637960.

R

40503637961.

%

40503637962.

Question Number : 13 Question Id : 40503610414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

AM y=y(x), FAIFA  HHFHI,
e ody .
xlog, x o F2y =2x (x > 1) e | Afg

lim y(x) =1 % ﬁTy{ez] T E

r—=l+
Options :
n:-2 1
40503637959, 2
02 ol |

40503637960. 2

R

40503637961.

gcollegedunia;



40503637962, € + 1

Question Number : 14 Question Id : 40503610415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If {,1}., L.r:.), i=1, 2, 3 are the vertices of an
equilateral triangle such that

(51 + 324y~ 97= (1, + 37+ (y, ~ 4 =
(x3+3)2+ (y; —4)2, then the value of

Vi tyy ti;

X1 |I1|I:;

15 :

Options :

W |

40503637963.

2| W

40503637964.

e | G

40503637965.

e | Lo

40503637966.

Question Number : 14 Question Id : 40503610415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Afe uh =g By % i fag (v, ), i=1,

2,3 % fe fou
(x1+3)2 + (y; — 4)*= (x, +3)2 + (y, —4)?

(3 +3P+ w972 W | T,

M E
Options :

W

40503637963.

| W

40503637964.

| G

40503637965.

W |

40503637966.

Question Number : 15 Question Id : 40503610416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

If tangent at [

i %
V2 V2)

2 +y?=1 is also a tangent to the circle
(x—a)’+ (y b)*>=1, then the ordered pair

(a, b) can be:

W to the circle

gcollegedunia;



Options :

40503637967.

40503637968.

(2 2\2)

40503637969.

{\Ff]

40503637970.

Question Number : 15 Question Id : 40503610416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
b
g Fa 22 + 112 1?%@[ L Jj|qw:rﬂ
</

T, (x —a)2+ (y— b)2 =1 4 T390 FTAl
%.ﬁ%ﬁﬁ%{a,h]ﬁ%ﬂ%:

Options :
2, V2)
40503637967 :
(B 9./
40503637068, | V2r 2V2)
¥ S
40503637969. { V2)

gcollegedunla



(=243

40503637970.

Question Number : 16 Question Id : 40503610417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The foci of a hyperbola coincide with the
o 2
foci of the ellipse, L [ . 1. If the
16 9
eccentricity of the hyperbola is 4, then its

equation is :

Options :
e S
40503637971, 105 4
9 y.
W

40503637972. / 105 16

2 _y_1
40503637973, 20 7> 16
Cl o
40503637974, ° 0 16

Question Number : 16 Question Id : 40503610417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Q
& collegedunia:



Correct Marks : 4 Wrong Marks : 1
TF Afamaed & Jf9 F-, 9,

2 2
% | %zlawﬁaﬁaqw%. Ify
AT i Iob=dl 4 €, o SHHT THIH

T

Options :

[

T -1y S,
40503637971, et 2
5 2
x- L

40503637972, / 105 16

2 2

. SN
40503637973, 20 75 16

2 _y_1
40503637974, ° /016

Question Number : 17 Question Id : 40503610418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
If the plane P : 2x—y+ 3z + 5=0 is rotated
through 90° about its line of intersection
with the plane 5x —4y— 2z + 1=0, then the

equation of the planr_- P in the new position

15 : gcollegedunia;



Options :
27x—24y—26z+13=0

40503637975,
¥ W N s
40503637976, 27X~ 24y—26z-13=0
o l:} .j L. e
40503637977, S1x+2y =20z -13=0

40503637978, H1x =25y +29z+13=0

Question Number : 17 Question Id : 40503610418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Ffg THae P : 2x —y+3z +5=0 % THIA
Sx—4y —2z+1=074 T9qE P & Yideaed
Y F HeS 90° % O T IHE W €, ol
Tt fefa # wmae P 1 GEE 2
Options :
10503637975, D2y Hrkla=l

e 'j‘ e s
40503637976, /X~ 24y—26z-13=0

40503637977, X+ 2y —20z-13=0

40503637978, S1x— 25y +29z+13=0

Question Number : 18 Question Id : 40503610419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye ~
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical gcollegedunia;



Correct Marks : 4 Wrong Marks : 1
The top of two poles, standing 4 m apart
on a horizontal plane, are connected by a
cable. If the angles of depression from the
top of one pole to the bottom of another
pole are 30" and 457, then the minimum
length (in m) of the cableis:

Options :

132./3 — 16

40503637979. \j 3

128 - 323

f
40503637980. \ 3

122 -32.3
V' 3
40503637981. -

1112 32./3
40503637982, | 3

Question Number : 18 Question Id : 40503610419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Afas 7e T 2 T 4 T F gl W 'Y '
%mfmﬁﬁﬁm{cahhjmﬁ@
T E | A U T e g m e #
e § SAFTHT HI0 30° TA45° F T Fefed i
Y o= (6 H) ®

Options :

132./3 — 16

40503637979. ‘j 3

(128 - 32 /3

|
40503637980. \ 3

1192 — 333

|
|
40503637981, ¥ 3

flnz 32.3
40503637982, | 3

Question Number : 19 Question Id : 40503610420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Let A, B and C be three events such that

the prnbabﬂit}-' of occurrence of ex actl}-' one

1
of A and B is 57 the probability of

occurrence ol exactl}-' one of B and C is 1

and the probability of occurrence of exactly

1
one of C and A is I If the prn‘l:'-a}:!ﬂ]i’q;r of

occurrence of all the three events

1
simultaneously is E , then the probability

that at least one of the three events will

DCCUr is :
Options :
]
40503637983, 10
13
40503637984, 10
7
40503637985. 8
15
40503637986, 10



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

[ &9 929 A, B 991 C TH UFH 2 fH
w o m = = m Py I

AﬁmBqaﬁﬁmﬁma?ﬁnmﬁm;%
LT = - ~y e 3

BHmLHHHHW£$EHWJmmm1%

ﬁncwﬁaﬁﬁmw%éﬁﬁuﬁaﬁmi
2| Atz A Teet % U 91y 29 ) i
— % AT T A A T A AT
gﬁﬁm% -
Options :
&

6

(=1

40503637983.

13
40503637984, 16

7

40503637985. 8

15

40503637986, 10

Question Number : 20 Question Id : 40503610421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye

gcollegedunia;



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Let
p : L have passed JEE (Main),
q : My JEE (Main) rank is 100, and
r: [ will appear in JEE (Advanced)
be three statements with truth values
T,F and T respectively. Then which one of
the following has the truth value, F ?
Options :
s0s03637087, L P T UAT

40503637988, (P~ D v (~ 1)

40503637980, PV D A (D)

40503637990, (P M VT

Question Number : 20 Question Id : 40503610421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



HHAT
p : ¥ JEE (Main) T8 & foman 2,
q : ¥ JEE (Main) % ¥ (Rank) 100 2 a1
r: § JEE (Advanced) & Ter gm
1 o €, f9% aog9m w59 T,Faan T 2|
1 fr=r o & fopme aemE F 2
Options :
(~pv ~qQnr

40503637987.
40503637988. PAr~qgv(~1)
40503637989. (~PVv @ A(~1)
40503637990. (~pr@vr

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 21 Question Id : 40503610422 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0

2
405036724
Yes

gcollegedunia;



' s T

Let B = : be the matrix obtained
10

by applying the elementary row operations

Ry »Ry-R,, Ry - 2R, and

-1{1 — Ry 2R, (in this order only) on a

maftrix A. Then the sum of all entries of A
is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

510 5.002

Question Number : 21 Question Id : 40503610422 Question Type : SA Display Question Number : Yes

Correct Marks : 4 Wrong Marks : 0
At A= A W IRFF qfF dfeana
Ry =R, 2R, (Faa sHI A H) F WA A

22 -26 : G
SﬂaﬁB:[ﬁ m]mm%mam
[t 379741 (entries) T AFTHA & |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

gcollegedunia;



Possible Answers :

5t05.002

Question Number : 22 Question Id : 40503610423 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

For beN, if the limit of the function

[[6x — 4], x <4
f(x) = 3[x +Db]
| 2

, x=>4

when ¥ — 4, exists and [t] denotes the

greatest integer =t, then b is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 22 Question Id : 40503610423 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

([5x —4], x <4

beN % ford, W& f(x) = {[x + ]

.

I T Ay — 4 T W ARG T AR ]

HETH YUiE <t I S ¢, A b TR ¥
|

>4
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 23 Question Id : 40503610424 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If S = {xe[0, 4]: sin2x — cosx = 0} and the
sum of the elements of 5 is k7, then k is

equal to ___

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Question Number : 23 Question Id : 40503610424 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Aqfz S = {x€]0, 477]: sin2x — cosx = 0} & 7=
Y= S F 9t A7l 1 90TEA ke B, @1k
TR & |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range ¥ collegedunia



Text Areas : PlainText
Possible Answers :
5 to 5.002

Question Number : 24 Question Id : 40503610425 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the mean of the numbers

7, =h, —2 x,5is —1, then the variance

of thenumbersxy —3,4x, x +3is _

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t0 5.002

Question Number : 24 Question Id : 40503610425 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

Afe gE@madi -7, -5, -2, x, 5F AT — 1%,
@ HEs x -3, 4y, x+3 HT G ©
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

gcollegedunia;



Question Number : 25 Question Id : 40503610426 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

If the equation of a plane P passing through

the point = f it is

r (2: ; I ak} =3, then the length of
\ J

the perpendicular [rom the point

4i ; + 3k on the plane P is
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5t05.002
Question Number : 25 Question Id : 40503610426 Question Type : SA Display Question Number : Yes
Correct Marks : 4 Wrong Marks : 0

AR TH TG P, W fag § o4 G4k WA

T & o HHE T .(2? ; | aﬂ 3%
A

".

Response Type : Numeric gcollegedunias



Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5t05.002

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Aptitude Test

405036377
2

Online
Mandatory
50

50

200

Yes

Yes

Yes

1
405036725
Yes

Question Number : 26 Question Id : 40503610427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



The3d-Df igure shows the view of an nhjr:ct. Idc-n’rif}-' the correct top view from amongst the
answer figures.

-
.-"-'

-
- e,
? P .,
- L S o,
-~ " -,
- o g
«. e ... e
-
-

«jﬁ-::"ﬂ

-
e
-

Options :

40503637996.

40503637997.

40503637998.

40503637999.

Question Number : 26 Question Id : 40503610427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;
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Options :

40503637996.

40503637997.

40503637998.

40503637999.

Question Number : 27 Question Id : 40503610428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The3-D figurr_- shows the view of an ohject. Idenfif}-' the correct top view from amongst the
answer figures.

Options :

40503638000.

40503638001.

40503638002.

40503638003.

Question Number : 27 Question Id : 40503610428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;
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Options :

40503638000.

40503638001.

40503638002.

40503638003.

Question Number : 28 Question Id : 40503610429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The 3 - D figure shows the view of an object. Identify the correct top view from amongst the
answer figures.

.
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-~ e
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-~ e -

> - ~

e -~ A o
o ” -
-

o
o

e
"
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Options :

40503638004.

40503638005.

40503638006.

40503638007.

Question Number : 28 Question Id : 40503610429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Options :

40503638004.

40503638005.

40503638006.

40503638007.

Question Number : 29 Question Id : 40503610430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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The3-D ¢ igure shows the view of an nhjoct. Idc-nﬁ_f}-' the correct top view from amongst the
answer figures.

40503638008.

40503638009.

40503638010.

40503638011.

Question Number : 29 Question Id : 40503610430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;
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Options :

40503638008. —|
40503638009. —I
40503638010.
40503638011.

Question Number : 30 Question Id : 40503610431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



The3d-Df igure shows the view of an nhjr:-ct. Idc-nfj_t'}-' the correct top view from amongst the
answer figures.

40503638012.

40503638013.

40503638014.

40503638015.

Question Number : 30 Question Id : 40503610431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;
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Options :

40503638012.

40503638013.

40503638014.

40503638015.

Question Number : 31 Question Id : 40503610432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Which one of the answer [ igures is the correct mirror image of the pmhlc-m [ igure with respect

toX =-X7
X
[ <
X
Options :
2
U
40503638016.
"-:I- ]
}
40503638017, —
S
40503638018, L——

40503638019.

Question Number : 31 Question Id : 40503610432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



I SAHTaEl § H A d S & T WA SEia X - X W gt w8 gdu wiafae € 2

X
o
X
Options :
7
,J
40503638016
v:l- |
/‘;
40503638017, —
S Y
40503638018, ———

40503638019.

Question Number : 32 Question Id : 40503610433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?

oy

Options :

X

O
40503638020.

i
40503638021. EJ

FIEL
40503638022. 5‘_‘

il
40503638023. EJ

Question Number : 32 Question Id : 40503610433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag
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X
X

Options :

40503638020,

40503638021,

40503638022.

40503638023,

Question Number : 33 Question Id : 40503610434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



Which one of the answer [ igures is the correct mirror image of the prnhlc-m [ igure with respect

toX-X?
X
7 i
X
Options :
\:\;1‘.‘_,
e
LY ?."__,a"’.{,
40503638024, L——
s I:{'-.f
40503638025.
NP4
T e
40503638026. =

40503638027.

Question Number : 33 Question Id : 40503610434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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X
Ry
7o
x
Options :
\_h*,h.ll'-.'i
e
kY __.-""’,::"
40503638024, =
40503638025.
[~ LH/Z ’
, SR P
40503638026. ~

40503638027.

Question Number : 34 Question Id : 40503610435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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Which one of the answer figures is the correct mirror image of the problem figure with respect
toX-X7?7

574

Options :

e
40503638028.
40503638029. @
40503638030. |:'|E|—I__I'JE
40503638031. @

Question Number : 34 Question Id : 40503610435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag
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X

X
Options :
40503638028.
40503638029. %'_I_L

@L_I_{E

40503638030.
40503638031.

Question Number : 35 Question Id : 40503610436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



Which one of the answer figurr_-s is the correct mirror image of the p roblem figurr_- with respect

toX-X?
X
L Ll
'S
X
Options :
]
A
40503638032.
i
) L]
40503638033.
40503638034.
40503638035.

Question Number : 35 Question Id : 40503610436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1 gcollegedunia;
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X
X
Options :
1
[= ]
40503638032.
| -
RE)
40503638033.
40503638034.
40503638035.

Question Number : 36 Question Id : 40503610437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



Find the odd figure out of the problem figures given below.

Options :

40503638036.

40503638037.

40503638038.

40503638039.

Question Number : 36 Question Id : 40503610437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== <1 T 9 ARfaEl | | o et vemt e |
Options :

gcollegedunia;



40503638036.

40503638037.

40503638038.

40503638039.

Question Number : 37 Question Id : 40503610438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503638040.

gcollegedunia;



40503638041.

40503638042.

40503638043.

Question Number : 37 Question Id : 40503610438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T 99 sRfaal § o faum snefa weente

Options :

40503638040.

gcollegedunia;



40503638041.

40503638042.

40503638043.

Question Number : 38 Question Id : 40503610439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503638044.

gcollegedunia;



40503638045.

40503638046.

40503638047.

Question Number : 38 Question Id : 40503610439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T g eepfadi | | fawm st vemi |
Options :

40503638044.

gcollegeduniag



40503638045.

40503638046.

40503638047.

Question Number : 39 Question Id : 40503610440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503638048.

gcollegeduniag



40503638049.

40503638050.

] A
1

]
]

40503638051.

Question Number : 39 Question Id : 40503610440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
== <1 T 9 Afadl | | faum e ventE |
Options :

40503638048.

gcollegeduniag



40503638049.

40503638050.

40503638051.

1/
]

1]

]
]

Question Number : 40 Question Id : 40503610441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

Find the odd figure out of the problem figures given below.

Options :

40503638052.

gcollegedunia;



40503638053.

40503638054.

40503638055.

Question Number : 40 Question Id : 40503610441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

== <t T 99 sRfaal § o faum snefa weee

Options :

40503638052.

gcollegedunia;



iy
40503638053.
N
:;[ \
40503638054
(’" ™
:' )
40503638055, )

Question Number : 41 Question Id : 40503610442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

.-"'
[.—-"' T H"--,_L
e [ e
™~
.H.""‘-\-\ ___.a-"'.
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i "\-._H -
T o
~ i
e '
.-"f
-~
.
Options
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40503638056.

40503638057.

40503638058.

40503638059.

T

Question Number : 41 Question Id : 40503610442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegeduniag
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Options :

40503638056.
|
L |
40503638057.
|
L
40503638058.
40503638059.

gcollegedunla



Question Number : 42 Question Id : 40503610443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

Options :

40503638060.

40503638061.

40503638062.

40503638063.

gcollegedunia;



Question Number : 42 Question Id : 40503610443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 - D W ARG T U 9% F U 399 1 Tam@men wen g | 9 Fi faen ¥ S| g, sHE W v
I AFHTE H | TE= |

Options :

40503638060.

40503638061.

40503638062.

40503638063.

gcollegedunia;



Question Number : 43 Question Id : 40503610444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

e

Options :

40503638064.
L
40503638065.
L]
40503638066.

gcollegedunia;



40503638067.

Question Number : 43 Question Id : 40503610444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D WA ST H U 9% F U 94 1 femmEn v 1 9 T | S gy, s9E U 9y
W AFHIGE H F TE=Ed |

Options :

40503638064.

40503638065.

gcollegedunia;



40503638066.

40503638067.

Question Number : 44 Question Id : 40503610445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

Options :

40503638068.

gcollegedunia;



40503638069.

40503638070.

40503638071.

Question Number : 44 Question Id : 40503610445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D 9Y AT H U 95 F Uk 9v4 1 To@mn T € | o 1 fewn § 2d gu, THE I 99 &
I ATHIE | | TEE |
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40503638068.

40503638069.

40503638070.

40503638071.

Question Number : 45 Question Id : 40503610446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



The 3 - D figure shows the view of an object. Identify the correct front view in the direction of
the arrow, from amongst the answer figures.

-\.L
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-
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Pl
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Options :

T
40503638072.

[ 3l—

I
40503638073.

L

|

40503638074.

]
40503638075.
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Question Number : 45 Question Id : 40503610446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D 9 SATH H U 9% F U 99 F femmn w1 9 T | 2w gy, s9E IeE oy H
W AFIE H F TE=E |

-
-

Options :

L
40503638072.
-
40503638073
L
|
40503638074.

gcollegedunia;



40503638075.

Question Number : 46 Question Id : 40503610447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

Options :
N5
40503638076.
40503638077.
40503638078.
——
40503638079.

gcollegedunia;



Question Number : 46 Question Id : 40503610447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SAFaAl § H FH H SAHT H T G SAFHE H e ST (sequence) T 2 S ?

s, _,.-"'-
- ___.-" WY
Ny
FE Y e
ri ; L 4
L L1 -
w w,  F LW r
Y

Options :
N5
40503638076.
40503638077.
40503638078.
——
40503638079.

Question Number : 47 Question Id : 40503610448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical Q
& collegedunia:



Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

?

Options :

40503638080.

40503638081.

40503638082.

40503638083.

Question Number : 47 Question Id : 40503610448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I SATFaAl § H FH H SAH H T G SAFH T H e H ST (sequence) T 2 S ?

7
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Options :

40503638080.

40503638081.

40503638082.

40503638083.

Question Number : 48 Question Id : 40503610449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Which one of the answer figure will complete the sequence of the three problem figures ?

P -
T Sy

N

==l e I WA PN
L ¥ * -: L LAY

F / £ W Lﬂ_\} e ‘v\_‘ H

{ ; Nl
. ey Wy W

~ Fr N

o e

40503638084.

gcollegedunia;



40503638085.

40503638086.

40503638087.

Question Number : 48 Question Id : 40503610449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T SAFTE § F FE W SAH A G AFaE J T H STH (sequence) T 2 STET 2

-
L -,
P ?
Fd T
.-"' "-.-'-\.'\'-\.
L. o
ey
v

Options :

40503638084.

40503638085.

gcollegedunia;



40503638086.

s

40503638087.

Question Number : 49 Question Id : 40503610450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figu re will cnmplr_-te the sequence of the three prnhlr_-m figures ?

?
Options :
40503638088. \Ggr‘é
40503638089.
40503638090.

gcollegedunia;



40503638091.

Question Number : 49 Question Id : 40503610450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

I AFaAr § H FH W AFHT A A G AFTE H oTH F SFIHT (sequence) T TR ?

G-

Options :

40503638088.

40503638089.

40503638090.

40503638091.

A&

gcollegedunia;



Question Number : 50 Question Id : 40503610451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the answer figurr:- will cnmpletr_- the sequence of the three pmhlc-m figurc-s ?

N\
=, o,
NN

Options :
N
NN
N
40503638092.
>
SR
“\w
40503638093.
\\\\\
N
NN
40503638094.
,
\
N
40503638095.

Question Number : 50 Question Id : 40503610451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



I SATFHTA H H HF H SHT H A G A § e H ST (sequence) T 2 S 2

o,
5 ' N 2?
Y AR -
Options :
N
NN
NN
40503638092. :
o
s
N
40503638093, —
\\\\\
o
NN
40503638094,
\ ",
.
NN
40503638095, —

Question Number : 51 Question Id : 40503610452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegedunia;



The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503638096.
L]
40503638097.
|
L |
40503638098.
40503638099.

Question Number : 51 Question Id : 40503610452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical g
& collegedunia:



Correct Marks : 4 Wrong Marks : 1
3 - D W99 S § U %G % U 999 Fl fom@mn 7 &1 R Fi fow | S g5y, s9E IRE o9 @6
I SAHE A 9 TEE |

Options :
Lo
40503638096.
L] ]
40503638097.
|
|
40503638098.
40503638099.

gcollegeduniaa



Question Number : 52 Question Id : 40503610453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :

40503638100.

40503638101.

40503638102.

40503638103. M collegedunia



Question Number : 52 Question Id : 40503610453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

3 - D WA ATH( | UF 9% F Ueh 99 I fam@ran wn ¥ 1 9 i faen § S gu, sHe T g9 &6
I HAFHTE H H TEE |

Options :

40503638100.

40503638101.

40503638102.

gcollegedunia;



40503638103.

Question Number : 53 Question Id : 40503610454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

T~
Options :
[
40503638104.
40503638105.
]

40503638106.
gcollegedunia;



40503638107.

Question Number : 53 Question Id : 40503610454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D 999 S H U 95 F UF 299 FI femmn ¥ 91 F1 fewn ¥ 2d gy, s 9 gy &
I Ao § A Te=fE

Options :

40503638104.

40503638105.

gcollegedunia;



40503638106.

40503638107.

Question Number : 54 Question Id : 40503610455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 = D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

Options :
40503638108. —

L[ 1 |
40503638109.

gcollegedunia;



40503638110.

40503638111.

Question Number : 54 Question Id : 40503610455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

3 - D YA ATHId H UF 9% F U 394 i famren wen w1 9w w6 faen | S v, 9 e v 6
I AFHTE H H TEE |

Options :

—

40503638108.

mml

40503638109.

gcollegedunia;



40503638110.

40503638111.

Question Number : 55 Question Id : 40503610456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The 3 - D figure shows the view of an object. Identify the correct view in the direction of the
arrow, from amongst the answer figures.

40503638112.

40503638113.

gcollegedunia;



40503638114.

40503638115.

Question Number : 55 Question Id : 40503610456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
3 - D W¥H ST T U 9 F UF 999 H femrn e ¥ R F fawn ¥ 29 gu, 39 e g
I SAFHE H | 2= |

Options :

40503638112.

gcollegedunia;



40503638113.

40503638114.

40503638115.

Question Number : 56 Question Id : 40503610457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

I
& K
rd ;
¥
Fi
i | i
L ___.f"

Options :

40503638116. M collegedunia



40503638117.

40503638118.

40503638119.

Question Number : 56 Question Id : 40503610457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
T T J T w1 S 39 femm T | d i o | SEd 3 W et | 9 91 v
99 Bl |

Options :

gcollegedunia;



40503638116.

40503638117.

| ]
40503638118,

|r—j
40503638119.

Question Number : 57 Question Id : 40503610458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

gcollegedunia;



Options :

40503638120.

40503638121.

40503638122.

40503638123.

=2l

"
|
.
!

Question Number : 57 Question Id : 40503610458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

gcollegeduniag
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Options :

40503638120,
i ’J}
40503638121,
—
40503638122,
’l\
40503638123,

Question Number : 58 Question Id : 40503610459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical gcollegedunia;

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn



Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :
40503638124, '
40503638125.

il
40503638126.

|—\ |
40503638127.

gcollegedunia;



Question Number : 58 Question Id : 40503610459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
9 ST H T5geli @ S 9va fammn T g i %1 foe | S gu I ool | O wel em
T T |

Options :

40503638124.

40503638125.

40503638126.

gcollegedunia;



7

Question Number : 59 Question Id : 40503610460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

40503638127.

i
00
100

.-/ \"
i \'\.

Options :

uikal

40503638128.

il

40503638129.

gcollegedunia;



o

40503638130.

il

40503638131.

Question Number : 59 Question Id : 40503610460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
¥ S H Fegell 1 S 29 e T g1 9r w6 fae | S gu sw o | 9 98 9y
T eI |

i
-0
100
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Options :

Hn Al

40503638128.

gcollegeduniag



il

40503638129.
40503638130.
40503638131.

Question Number : 60 Question Id : 40503610461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of objects. Looking in the direction of the arrow,
identify the correct elevation, from amongst the answer figures.

Options :

gcollegedunia;



40503638132.
1t
40503638133.
i
40503638134.
S
40503638135.

Question Number : 60 Question Id : 40503610461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
W T § FEgE w1 ST 29 femmen T # | IR F6 fae ¥ I g I ol § 9 uE aeyE
¥4 e |
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Options :

gcollegedunia;



40503638132.
1t
40503638133.
i
40503638134.
S
40503638135.

Question Number : 61 Question Id : 40503610462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The White House is which one of the
[ nllnwf_ng ?

Options :

Residence of Prime Minister of

Germany
40503638136. e

40503638137, Residence of Prime Minister of France

40503638138, Residence of Prime Minister of Spain

40503638139 Residence of President of USA

gcollegedunia;



Question Number : 61 Question Id : 40503610462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=52 73y frefafed § 9 6 w2
Options :

40503638136, ToEI R T IELTAL T ET

T & TYEEAT =51 FaEm
40503638137.

40503638138, T & FHUFHH! 1 T

Tga =9 FAHREH F WL &1 Famw
40503638139.

Question Number : 62 Question Id : 40503610463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In the Northern Hemisphere the summer
sun rises from which one of the following
directions 7

Options :

40503638140, TNorth East

40503638141, North West

40503638142, South East

gcollegedunia;



40503638143, South West

Question Number : 62 Question Id : 40503610463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
I Tiend | G {9 e famed 1 9
g ue faen 9 31 €72
Options :
40503638140, S0¢ 17

40503638141, ST% ¥

40503638142, Ao T3

40503638143, A0 TIE=H

Question Number : 63 Question Id : 40503610464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In which of the following States is the
Golden Temple located ?

Options :

Harvana

40503638144. ’

40503638145, L unjab

gcollegedunia;



40503638146, 1ssam

40503638147, [Nagaland

Question Number : 63 Question Id : 40503610464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
freafafad 9§ 4 #F 3 w39 ¥ =i e feom
€7

Options :

40503638144.

40503638145.

40503638146.

40503638147. IE

Question Number : 64 Question Id : 40503610465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What is the thickness of a one and a half
brick thick wall ?
Options :
40503638148. g

40503638149, 127 M collegedunia



40503638150, 18"

40503638151, 135"

Question Number : 64 Question Id : 40503610465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Options :

40503638148. 4

40503638149, 127

40503638150, 18"

40503638151, 132"

Question Number : 65 Question Id : 40503610466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one amongst the following supports
the masonry above doors and windows ?

Options :
40503638152, Foundation

40503638153, Lintel

gcollegedunia;



40503638154, Slab

40503638155, Vooden frame

Question Number : 65 Question Id : 40503610466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Tafafad # 9 & 9 <2 3R faefe &
FHR T 1 weE w2 7

Options :

40503638152,

40503638153. "

40503638154, 1=

40503638155. gt LA

Question Number : 66 Question Id : 40503610467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
The Leaning Tower in Italy is located in
which one of the following cities ?
Options :

40503638156, rlorence

gcollegedunia;



40503638157, Venice

40503638158, Lisa

40503638159, Rome

Question Number : 66 Question Id : 40503610467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

sl 1 @it 2Ee e | 9 g s fem
272

Options :

',

40503638156.

40503638157, AT
40503638158, 1741

40503638159, U4

Question Number : 67 Question Id : 40503610468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the garden of the following
is a terraced garden in Srinagar ?

Options :
40503638160, Nishat

gcollegedunia;



40503638161, Vrindaban

40503638162, buddha

40503638163, Nehru

Question Number : 67 Question Id : 40503610468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frfefiaa § | &1 O Tg&r@l 9wl U S
A H fro 37

Options :

40503638160. I

40503638161. 1

40503638162, 35

-

40503638163, 0

Question Number : 68 Question Id : 40503610469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

What amongst the following is the name
of the famous museum in Hyderabad ?

Options :

gcollegedunia;



40503638164, 1 Alaknuma

40503638165, DALarjung

40503638166, andhi

40503638167, Nizam

Question Number : 68 Question Id : 40503610469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frafeafaa # & %M 0 derae F vfas dreem
FAHE?

Options :

40503638164, TeNdA

40503638165. I

40503638166, 1Al

40503638167, T

Question Number : 69 Question Id : 40503610470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the color is made when blue
and yellow are mixed ?

gcollegedunia;



Options :

40503638168, Violet

40503638169, Orange

40503638170, Green

40503638171, /Vhite

Question Number : 69 Question Id : 40503610470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

o1 AR et 31 F fagor § w8 ?
Options :

40503638168. ST

40503638169, T

40503638170, &4

40503638171,

Question Number : 70 Question Id : 40503610471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one of the following color suggests
love and romance ?

Options : gcollegedunia;



40503638172, Drue

40503638173, Green

40503638174, LNk

40503638175, DrOWR

Question Number : 70 Question Id : 40503610471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
@ ¥ 9 F9 W TF @R 7 9" T
T & ?

Options :

40503638172. ol

40503638173, o0
40503638174, 34

40503638175. kS

Question Number : 71 Question Id : 40503610472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

gcollegeduniag



Which one of the following suggests the
texture of the skin of the elderly persons ?

Options :

40503638176, Clossy

40503638177, YWrinkled

40503638178, ~mooth

40503638179, 2Ot

Question Number : 71 Question Id : 40503610472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
= H § FE W g Afeadl # = S
TASE T G <l & 7

Options :

40503638176, FHHaR

40503638177. 4

40503638178. g

40503638179, T H

Question Number : 72 Question Id : 40503610473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical gcollegedunia;
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Correct Marks : 4 Wrong Marks : 1

Which one of the following is fixed to drain
water from a sloping roof ?

Options :
40503638180, Ridge

40503638181, Eave

40503638182, 1- Bolt

40503638183, ~utter

Question Number : 72 Question Id : 40503610473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

=1 § 9 FF9-91 UF 9 $1 39 9 e &
foru e T T 22
Options :

40503638180, T&d

40503638181, U9
40503638182, - A=

40503638183, =%

Question Number : 73 Question Id : 40503610474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Ye Q o
% collegeaunias
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Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1
Which one of the following is ideal flooring
for a cinema hall ?
Options :
40503638184, CTanIte

40503638185, PricK

40503638186, Marble

40503638187, “arpet

Question Number : 73 Question Id : 40503610474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Frafafaa 5 3 =/ w fam 2 F fou ey
I E?

Options :

n

40503638184.

40503638185, =%

40503638186, T THHT

"

40503638187.

gcollegedunia;



Question Number : 74 Question Id : 40503610475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Who among the following is the architect

of the Punjab Haryana High Court

Building ?
Options :
40503638188, Maxwell Fry

40503638189, ¢ Corbusier

40503638190, Louis Kahn

40503638191, Geoflrey Bawa

Question Number : 74 Question Id : 40503610475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Bk ek ¥
Options :

=, [

Tedeel Wle
40503638188.

40503638189, 1 T1AHR

40503638190. il

gcollegedunia;



40503638191.

Question Number : 75 Question Id : 40503610476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Which one among the following is used for
water conservation ?

Options :

Water drainage

40503638192.

40503638193, 'V ater evaporation

40503638194, 'V ater harvesting

40503638195, 'Vater flowing

Question Number : 75 Question Id : 40503610476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
el WL o Teru ffefiga 5 9 @ = 93
o S & 2

Options :

40503638192, <1 TThTH

40503638193, @1 ATHTRIM

gcollegedunia;



40503638194, o101 HHT

40503638195. e

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Display Number Panel :

Group All Questions :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 76 Question Id : 40503610477 Question Type : SUBJECTIVE Display Question Number : Yes

Correct Marks : 50
In the space provided for the answer of this
question, draw an aesthetic composition
appropriate to this space using triangles
and rectangles. There is no restriction to
numbers, sizes, placement and directions
of these shapes. Color this composition so

that it becomes visuall}-' exciting.

Drawing
405036378
3
Offline
Mandatory
2
2
100
Yes
Yes
Yes
1
405036726
No
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Question Number : 76 Question Id : 40503610477 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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Question Number : 77 Question Id : 40503610478 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50

Draw from imagination a gardr_-nr_-r

working in the garden.

OR
Draw from imagination a scene of a place
for praying.

OR

Draw from memory your best friends face.

Question Number : 77 Question Id : 40503610478 Question Type : SUBJECTIVE Display Question Number : Yes
Correct Marks : 50
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